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Q1. Which of following sentences is correct?

A. The manager and principal have been invited for

inauguration.
B. The manager and principal has been invited for

inauguration.
C. The manager and the principal have been invited for

inauguration.
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1, Only A 2. BothB & C
3. Only B 4.BothA& C
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2. Choose the correct option to fill in the blank.
It is well known that bread and butter sold at grocery shop.

A.is

B. are
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Q3. Which of following sentences is correct?

A. It is surprising that Red beans and rice is my mom'’s favorite dish.

B. Bread and butter are my regular breakfast.

1. Only A 2. Both are correct
3.0nly B 4. Both are wrong
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Q4. Which of following sentences is correct?

A. It is very disappointing that half of the chickens are gone.

B. It is very disappointing that half of the money is spent.

1. Only A 2. Both are correct
3.0nly B 4. Both are wrong

Rule: In case of "some of," "half of," "none of," "more
of," or "all of” the verb is decided as per the given
object.
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Q5. Choose the correct option to fill in the blank.

To walk and to chew gum great skill.

A. require

B. requires
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A. He is one of those who does not want to come to the function.

B. One of my friends do not want to come to the function.

C. He is one of my friends who want to come to the function.

D. He is the only one of my friends who wants to come to the function.

Q6. Which of the sentences given above is /are correct?

A-B-D
B-D
C-D
A-B-C
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A. A number of students going on the trip.
B. The number of students going on the trip hot
enough.

Q7. Choose the correct combination to complete the sentences.

1. A-is, B- are
2- A- are, B-is
3- A- are, B- are
4- A- is, B -is
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Q8. Which of following sentences is correct?

A. The problem arises only when the majority of people do
not understand the situation.

B. The density of population in Bihar is very high.

1. OnlyA 2. Both are correct
3.0nly B 4. Both are wrong
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Q9. Choose the correct option to fill in the blank.

Tom like his brothers spending money on useful items.
A.lis

B. are

Example: The boys with / like/ in addition to/
unlike/ besides, accompanied by their teacher
Mr. Robbin are planning a tour.
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Q10. Which of following sentences is correct?

A. None of the money has been used.
B. None of the teachers wants failure for students.
C. None of the students want to fail.

Rule :
None + of the + singular noun + singular verb
None + of the + plural noun + plural verb







